
                                                  

[ QLDIN5S5 io^luQu65BT<S6n' : 70
[Maximum Marks : 70

ffilTSl) ^GTTGIj : 3.00 LDCCofl GfBIJLD ]
Time Allowed : 3.00 Hours ]

^jp5l6L|60irffi6TT : (1) <^|0D6ffT <5§| sfilCOTfT<g;<95 (CT5 LD fflfllUfT® U^loJIT l̂ 2_ <5iT TT 5̂ IT 6r6ffrU<56S)6&T

ffifluiriT^gi® Q« rr6ir6TT64 ib . @«opu5l0LJi51s5T

<K6DOT<Kfr60cf) Lji_jrr6rriflL_Lb &_i 6OTLq_iu Q£rfloSl <5<956i]ib.

(2) j§6\)li> c9|d) Dgj| <S0UL| 65)LDuSl«D65T 'UDL_@CSLD OT(Lp§IQJaifb@U UUjdSTU®^GsUOTTglLD. ULfilffiCTT GU 6B)[T61Ja5p0li5 , ^!£[_«G <3SFTlq_ CU^JD @ LD

QU6&T<£1Q) uiu i)Tu(5l^a|ii).

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@n51uL| : U0^l - I ( a_ u51 if1 -^rr6utr6£liud) ) , U0^1 - II ( 2_uSlifl - dSlGDr£j <&iud) )
aSl0J) l_<5;$T6ffld> 6lSl65)L_UJ «Sffl«<5Gqiri.
Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer-books.

Note :

u@<£] - I (2_uSlifl-<5[T6iJ76fliiJ6b) / PART - I (BIO-BOTANY)
( m<§uQiJ655T<56Tr : 35) / (Marks : 35)

LSlifleq - 1 / SECTION - 1

0p51uLj : (i) e$amr<R <5(6nj<5(§Li> 6toi_<!]j<orfl«,56qib.

(ii) QcBrr^affiLJuLgldTOT LDrrjbp cfil or> i— <s6tflo> Lfilaeqih qrrbqoDi-UJ

©&l6B)L
_

65) UJ£ G<$liT5Q<5©<$§] <£ @rfj) llSL_(i) l_OT I_ll96OT6OTU-11±) GfflT^gj]

GT(Lp^(oqii) .

(i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.

8x1=8

Note :
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1. 5)6U ?T6fu ^MfT)JT) 55(T6lJ [rrBJ«SfT j§lj£le5)0f5§] S 06UH««UU©<£l 65Tn)65T :

( l̂ ) Qffd) uS1^6neu
(@) 6 |

Virus free plants are developed from :

(a) Cell suspension culture

(c) Meristem culture

( ) LjGp QJOTITULI

(b) Organ culture

(d) Protoplast culture

2. cusRsflffi if^liLirr« (ip<5 1̂ iLi^§) 6uii) ojirujrBsj, G&J6rrjr6ror «rr©«ciflei) 6uerTiT.9;<5ULi(5lib
LDIjrBJ(5QD6TT<5 (3jf§luiS)(5l <E.

(*3\ ) crifl^65)|76ffTrr, ^ebi^enSlujrr

( î,) LD65) D(361JlbL|, <5l
_lbl_|

(@) <=£) <sG<K6i£) ujrr, ^Giurnqjjrrai-rr @«S5n^«rr

( FF) Qff TUurr65fliurr, ^aGffia^lujrr

Some of the major species cultivated in Agroforestry for commercial use :

(a) Erythrina, Albizzia

(b) Malaivembu, Kadambu

(c) Acacia, Azadirachta Indica

(d) Sesbania, Acacia

3. U6ronSl «D«RTr Qufi)p §J[IU £l 6ULJL| LD OOF <S65)6TT 2_65) L_UJ ^ITQJIJlb Q8,fF,
U655Tl5l65)65T 2_65)1

_
ILI QQJ6TT65)6TT LD60 IT QeKITCdtm— gJflLJ ^rTQJ IJSJg] l—OTT <560Uq Q<fflLIU_|Lb

Gurrgj ^l65)L_
<5@Lb :

(^) ^65)63T^§JLb <£1&JUL| U)6U(T<56TT ( <^,)^iGTTLb QoJ6TT65)CTT LDQ3IT<S£TT

( FF) ^|65)©JT^pLD QoJ6TT6)n£TT LD6l)IT<5 TT(^) ^6ULJL| lT»6UIT«eTr

If a homozygous red flowered plant is crossed with a homozygous white flowered
plant then the off-spring will be :

(b) Half white flowered

(d) All white flowered
(a) All red flowered
(c) Half red flowered

a
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4. Qun-0<$gj« :
(1) efu65) i_G65Trr(3u^la
(2) duQi_G65Trr<#luj

(3) cmQi_G65Tfr0n)rr
(4) 6h)Qi_G65TrTo°oUirg§1«

(i) B_ULp£0JT®OLD

^ g) $ ifT dgbLplb

(iv) &jrrL(j) i_,$ Ggir&j

( l̂ ) (l) - (iv), (2) - (i), (3) - (iii), (4) - (u)
(^) (l) - (iii), (2) - (i), (3) - (ii), (4) - (iv)
(®) (l) - (u), (2) - (i), (3) - (iv),(4) - (Ui)
( rr) (1) - (ii), (2) - (iv), (3) -{i), (4) - (iii)
Match the following :
(1) Stenobathic
(2) Stenoecious
(3) Stenohaline

(i) Salinity
(ii) Depth of water/habitat
(iii) Food

(4) Stenophagic
(a) (1) - (iv), (2) - (i), (3)- (iii), (4) - (ii)
(b) (l) - (iii), (2) - (i), (3) - (ii), (4) - (iv)
(c) (1) - (ii), (2) - (i), (3) - (iv), (4) - (iii)
(d) (1) - (ii), (2) - (iv), (3) - (i), (4) - (iii)

(iv) Habitat selection

5. ,4},(S5<#]GiumsiuQuiTLi)«6ifl6ijT G«uSlLGi_rr65)uLi^6i5T (Lp<$d) Qffd) :
(^) peik %§i
( F) 2-L.50

First cell of Male gametophyte in angiosperms is :
(a) Primary endosperm
(c) Megaspore

(^) <50 <£l <5

(@) Qu0

(b) Microspore
(d) Nucleus

6. 6T§J ^L).<554 90 ‘ LDIJ U^3J QeuerfluUTT© 6)S) u UfTOTIT’ <50 C^ UJrr <5

ULU65rU©^UU©ilfD§| ?
( <^ ) GMF ( <^) 6UL_l_0Jl^.QJ U|I7^LD

( F) PLA(®) GFP
Which is frequently used as reporter of expression ?
(a) GMF
(c) GFP

(b) Circular protein
(d) PLA

7. ^i^eucrfl io0Rm_6Dih CTOTiju(5l6iJ§j :
( c î ) LDjSjiluj
(@ ) UILI0JT(T) (D ^Gffrrdrr
The Ozone layer of troposphere is called :
(a) Middle Ozone
(c) Bad Ozone

(^) ^CpffirfflT aeuffih
( F) J565T65) LI> ^0lh

(b) Ozone Shield
(d) Good Ozone

0 [ ^10UL|« / Turn over
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(a) Sonalika
(c) Rhaphanobrassica

(b) Triticale

(d) Atomita-2

iSliflsq - 2 / SECTION - 2

0p5)uL| : <£Lp.a <gsiT 6pii> 6iSl 65Tfrffi « Gifla) 6j(S^guih ©S) ®snr««(g5®@

©SI 65) I_ILI6lfl lh.
Note : Answer any four of the following questions.

9. GnfflSllflll - 6USDpjpffi<56qib.

Define Cybrid.

4x2=8

10. 6fi)65)^UUI5^l65r UUJ65Tfl> TT FfjrT65T<£l 65)65T CT(Lpgj]<5.

Write any four uses of Seedball.

11. pfuj65) LD Gimburr© Qffuj«) ^1 LLL_^CTT @rfj)ffi(S<sn- TT u_irr§] ?

What are the objectives of clean development mechanism ?

12. ^U_lfb 5)ffi S6U6TTrr655T65)LD - 6U«S)pjp<5<$6qib.

Define - Organic farming.

13. r§l6t)(p6ULbLS)65T ^rroj^oSliuo) QUUJIT mjbpib @0ihu^a)6BT« (grftuiSliL®,

6^0 UUJOT 6T(Lpp«.

Write the Botanical name and family of Nilavembu. Write any one of its uses.

14. 2_uSlirQ^rrL^lo) pilueiSlujeSlo) uujsyruQib Qr^tr^laGrT lurrGDaj ?

Name the enzymes involved in genetic engineering.

0

65T QUUJIT :8. y,ff£) iDfbpib a_ urr ^sjT«nLD65)iu ^rrrEJ@ib £rrGU (r;9>^
  (^) Qffrr65nrG51« ir

(@ ) ijurKSasTn- iSlp

Name the plant which is pest resistant and
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- 3 / SECTION - 3

0n51uL|: ^hpaj& nrflpjib 6ISLCOTRRA «£BERFL 0 6j(Saj6pLi) (upgirripj QS]0fTrr <$ffi (6nj«0
6fil65)l

_
UJ6tf)«.$6L|Lb. 6lSl60Tir CTOTUr '19 -<R(g &L

_
l
_

nUILDrTffi 6)&l6ff)l
_lLIGTf)&Sj6l|li>. 3x3=9

Answer any three of the following questions. Question No. 19 is compulsory.
15. (TjirGJT(Sj LDKRlfl ^(TQJ ^̂ld)

Q6U 6lfllT UffOOff ^65)0) &_65)l_ID ajirOJIJLil X ĴLIT U <SF65)ff jglODSD 2_6!0L.IU ^mSUpb
(Qu«®r)

Note :

i
?

Urri7li) UlflLy^65T 6U 65)<$6imiJ ©S)6Ulfl«a;<SL|Lb.

In 4 o'clock plant

Pale green leaved plant x Dark green leaved plant
(Male) (Female)

l
?

Explain the type of inheritance.

16. pBR 322 iSlsTTirsfouSlll OTSmpfrQ) CT0JT05T ?
What is pBR 322 plasmid ?

17. U <5T0DLD @d)6i) efil 6oerrcq (ordfTjDiro) crdjreiST ? U^SKLD @ 0 0 6UfriL|<5«etfld5T ffirfriq
Urij<5STfluL5l 63) 5T UL_LD 6U65)[T<S.

What is Green House Effect ? Draw the relative contributions of green house gases.

18. e_6»p @erfliT urrajjarruiq Ufbf§l OT(Lp§i«.

Give an account on cryo preservation.

19. 6URRL^II_ LD n> ff) pLh QffiLid) 6urrL^li_ ub c ^̂liijeurbfflrb® @ 65) i_Giu 2_ GTTSTT

Gsupurr^aOT (tp65lrf)l 63)65T«S «9h.p«.

Write the three differences between Habitat and Niche.

0 [ / Turn over
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MGI\ - 4 / SECTION - 4

@p5)ui_|: GlS)6aTIT«ffi(6T5«@lb 6lSl65)l
_UJofl,5«6l]lb.

Note : Answer all the questions.
20. ( $̂j ) LD«p-rb£5 (5^piTlLJ (5j6l51§p6TT p65)y)£GlSl65T 6U65)««G5)OT ©Sl0T<$(gj«5.

^606V)§]

( t̂ ) LDIJUOTJI Guen r̂uLih ereirnDird) CTOSTOST ? ^̂dsr UIUCTT«0OCTT <sr(Lp§]«.

(a) Explain tlie different mode of entry of pollen tube into the ovule.

2x5=10

OR

(b) What is gene mapping and write its uses.

21. (c9j ) 65)61) LD655T1—0)^65)55 Urrp<5rrUU§| 6T6lJClirrp ?

^6\)60§|

(^j? ) crn-(Lp ^Lb, GfffTQp&jLb 6>SlGiJffrru5) .s<oiT. ryrr(Lp ^jb«o)uiS)65r ^ipo)ii) UUSIIT GlffuLi^trir.
Gffrr(ip «o)UL|^[r6U (nij<E66iT £Lp60 Lb UUSIIT QSILI^ITIT.

(i) ^$0) lLin-0«@ L|^llLI ^rnsuij- 6U 66)<K <g;6TT <®65)L_«0li) ?

(ii) £̂<5 G<$IT&j (ip65)fDllS]05T £65165)LD556TT LDjbpLD <§65)LD <K65)GTT 6TQ£|j]S.

(a) How to protect the ecosystem ?

OR

(b) Ramu and Somu are farmers. Ramu cultivated the crops by self fertilization
method. Somu cultivated the crops from mixed population.

(i) Who will get new variety ?

(ii) Write the advantages and disadvantages of their selection.

0
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@n51uq : (i) 6£)65Trr.£«K(6T55@ib ©S)6B) i_ujG(fl&4>GijLb.
(ii) Q«(T(5\ <S<5LJUC.(5lSn- CTT LBrrfTjp 6&l 65) l

_
<$6lflo) uSl«6^ ii) g-rr) L|65) L.UJ

©@65) L
_

65)ILI£ G^ITIB(ol^(^^§J« 0r51 uSLl@ L_65T Q@ 6S) L
_

li@ 65)65nLJLb GtflT<5§]

6T(Lp£Ojlb.

(i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.

8x1=8

Note :

1. Ourr0^§|ffi.

(1) <$tru51(rLi) Q©j©fl©@® IUD (i) LNG-20

(ii) 6@UU6rU QJ 65)GTTIU IUD

(iii) ffrrQQfD^
(iv) Multiload-375

(2) ©fflrriKSLDmsijT GlojafleS)® IUD

(3) UD0^^1d)6i)ir IUD

(4) iorr^65)tr«6rr

( ) (1) " (iv)/ (2) - (i)/ (3) - (ii)/ (4) - (iii)

(^b) (1) - (iv), (2) - (ii), (3) - (i).(4) - (iii)

(5) (1) - (iv)/ (2) - (i), (3) - (iii), (4) - (ii)

( ff ) (l) - (i), (2) - (iv), (3) - (ii), (4) - (iii)

Match the following :

(1) Copper releasing IUD

(2) Hormone releasing IUD

(3) Non-medicated IUD

(4) Mini pills

(a) (1) - (iv), (2) - (i), (3) - (ii), (4) - (iii)

(b) (1) - (iv), (2) - (ii), (3) - (i)/ (4) - (iii)

(c) (1) - (iv), (2) - (i), (3) - (iii), (4) - (ii)

(d) (1) - (i)" (2) - (iv), (3) - (ii), (4) - (iii)

(i) LNG-20
(is) Lippes loop IUD
(iii) Saheli
(iv) Multiload-375

0 [$0UL|& / Turn over
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2. 6T\ G> <$ rr 65) 60 -©DID QSIL. ffrrffiffiCpfrrrgiOLDcrDsfu ffireiSl 6nSl (SiJJ iDpGffirffi©s>5>

^l6ijTL_ir o°oGlu^rn-6ifTffi©D6rT a_fbu^Qffiuai^)©) <^GS\ ?
( «5H ) 2_u51ifliu Q(Brr^l«isi)0(fld) 6r,G«fr65)6U65)iu UIUGOTU©^ (jpiq_ujfrp

( <3i> ) mr<S5fcj« TT a_
{bu$$«(3} iSlOTrrcfuuSlLl©«OT cr.Garrcwa) -uSId) ^Icbso©)

(^!) Mrr^r&j«6W6TT ffrr^aeotrGujfDpijb ^©DI_IU 65)QJ««K <£ G<565)6Uiurr65T £g)ujrEJ@ g>mib

cr.Gairano) -uSId) ^leusncu

(F) L|(T 55 fid <$65)6TT 2
_

(T) U^ Q <FUJ 6ii <50) (&,&, G <$65)QJ UJ rT65T 6T.GffirT65)60 <STCTfl 60

£I 65) L_UU4P©)65)6D

Why Saccharomyces Cerevisiae is more suitable for production of recombinant
interferons than E.coli ?
(a) E.coli cannot be used in biofermentor.
(b) E.coli does not have suitable plasmid for the production of proteins.

(c) E.coli does not have the machinery for glycosylation of proteins.
(d) E.coli is not easily available for the production of proteins.

3. <iLpsu06U65TQjrbp6TT, «0<ffiGffirr6rrii) rr«<K^65)a5u ufbrgliLi 2
_65BT65)LDU

_
irr65T asupp <srp ?

( <=9l ) <50SL|rr)fD (jpiL65)i
_u96fil0njgjj U6D Qffd) rgl65)so 2_06urr<$d)

(^t> ) (LP®) ^9j(5'50«56rfl lSl0(B§J 0fS) ui5) lLl_ 2_pillLjaSOT G^IT65Tp^6b

QD) ^tr©®® «0<sG<5[r6TTLb, (Lp6u(j5l <950 <50«G<srr6rTLDn-<5 LDrrpii) rSl«Lp«F<#l

( F) <s0<sGarr6TrLb <K0U65>uuS]65T <K6U0i_65T 91111)-« Q«rr6TT(6r5<£6b

Which one of the following is true to gastrulation ?

(a) Formation of multicellular structure from Zygote
(b) Formation of specific organs from germ layers
(c) Formation of three germ layer embryo from single layer embryo

(d) Attachment of blastocyst to the uterine wall

4. ($}Lp0J0LD rgl63)6U rtofD&lpfDn'd), 2
_
06uQmir<$<$ glljrL65) l_UJ [T<£6TT 2

_
06Ufr«auu©«

< l̂pmr« TT :

( <
_
9l ) glpW© G l̂rbp QffQiaGTT, 90 cSH®TCTI_ Q<SF6065)6D «061̂ « QfflLl^l 65T^65T

{^) offlrbp Qffd)«®r, gjjrajbr© ^s55ri_r&j«60)OT<5 «06^0)« Q<EFILJ ,$IS5TJD65T

(@) $© ®CT6OTT© ^655n_rEJ <5<S5)6TT<5 «06110)« Q«UJ <$65T0)65T

( FF) 90 afilj&gj Q«6U, 90 c9t 6WTL
_ Q«6l)65> 0 «06110)« QffUJ^IjDgl

Identical twins are produced when the following condition is satisfied :

(a) Two sperms are fertilizing one egg
(b) Two sperms are fertilizing two eggs
(c) One sperm is fertilizing two eggs
(d) One sperm is fertilizing one egg

0
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5. ELISA QpsjdsTaoiDiijna {§£jb@u uiLi6iyru© l̂fD§).

( <=9|) 6fil0Lbu^£Bffi« U655n_j«65)6TTlLj65) L_LU ^rr6U^«65)611^ C^IT^ QfflUUJ

( «^> ) $IG.IT LDirfi) fT)rEl ®65)6TT(5 «a5BTL_f51lU

(@ ) G^niUS ^0l£1«65)eiT« ffi6WTl_r51 uJ

( rr) ©S)0lhu^«« U6rorq«65)6TTlL|65) l_lU 6lSl60fij@«65)6TT^ G^IT6q QfflUUJ

ELISA is mainly used for :

(a) Selecting plants having desired traits

(b) Detection of mutations

(c) Detection of pathogens

(d) Selecting animals having desired traits

6. <5n.fT)p ( ton. ) : nnrusp LDfTfDJDLJUL-l Bt - U0£*§l, CSfBrriLJ CT'^llTUL|^ £©n65)l£>

QffiirCTOTL OJ65)ffi.

amj6OTTib (an) : cry - pas, g)££naj(r <s^lQ) a_p> u^ Qffiuiyuu©6U£rr6U ,

ojn-(Lpih y,06ioff«t [5«@ CT^itrrrssT {BL-euupK0S)««6rfld)

F(SiU@ <®fD§).

(*9|) (an.) LDfT)gl) Lb (an) c Ĵ,$UJ«D&J 2_«R5T65)lJDUJrr6ffr65)6U; ^6CTrrd) (an), (an.) -65)IL1

6fil6rr««0l51d)65)a)

(^,) («n.) <$6Up; («") fflfl

(g)) (an.) LDfbpib (an) ^^liueuxsu ^GurDnanao&i

(F) (an.) a_sRn65)m^65Trr<sb (an) <$ojrru

Assertion (A) : Genetically engineered Bt-cotton is disease resistant type.

Reason (R) Cry-toxin produced in the plant has specific activities against
free living fungi.

(a) Both (A) and (R) are true, but (R) does not explain (A)

(b) (A) is wrong ; (R) is correct

(c) Both (A) and (R) are wrong

(d) (A) is true but (R) is wrong

0 [ ^0uqa / Turn over
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7. 6un-i£) L_ ItrL^loSlGiJTird) i£)« « ar> LDIURR OT uir^luLj«(6r5«@ jL.«rerrrr£l, ^Lflqii)
l£l &) DuSl®) e_6TTOT ©SlsOril̂ syiLb GT§) ?
(^) QPllG^IT^cKOT (^) UfTg^L_li}.« Tr

(S) uH)«n®J«OT (FT) $0 ajir^sfiksrr
Which one °* the following are at high risk of extinction due to habitat destruction ?

(b) Mammals
(d) Amphibians

(a) Echinoderms
(c) Birds

2_6TT6TTl^.GTeiST.qr. S:IT,£«e5)!7«K(6f5S;@Li> ) ^IT.lordjT.Q-.
G6iiputr© :
{ r3\ ) 4-«^<5snSlifK3un-ciu stfsâ pSld) $0^aenSlggcsr^OTJI ^̂l«Lnrr« @0uu§i

(^b) ifKSumsh) arraaicnpSlo) $0'^asnSt^dfr <aisp 0SOfDeurr« @®uu§]

(§) ) iflGuircro ffiT.saenij-u^Q)|g)0 ^acnSlgDOT ^ganiaserT 0S5)paJ (r<R g)0ULJ§j

( FF) uj.-^aenSliflGuirdo sfraaiaotruS) ©) 90 c^asnSlgDOT <^ p @ 5) n > 6un\5

@0L1 U§J
The difference between DNA sugars and RNA sugars is :
(a) One oxygen atom excess in deoxyribose sugars
(b) One oxygen atom less in ribose sugars
(c) Two oxygen atoms less in ribose sugars
(d) One oxygen atom less in deoxyribose sugars

8.

dilfleq - 2 / SECTION - 2
(g>n51uL| : 6j(2gjguLb J5iT6ijT0 aSl 5TiT<£.K(6n>8;@ iml@ih oSl 5)i_iLiaf),$a;<sqLb.
Note : Answer any four of the following questions.
9. ^655Tl_li> ' aijlQu ®^®) OTOTpiTQ) OTOTT 65T ? g)§| LDIT^ oSl LITILJ 51Lp (D S\ liS) OT

6T^^65)«mjjireu§i jBirofld) p65) i
_Qupih ?

What is Ovulation ? In which day of menstrual cycle it takes place ?

4x2=8

10. L-Gi^ eror <#ld5TilGijrTLb Gptriu £_6rori_rr&j£fi)5;rr65r snyp-ascnb ujirp ?
Write the cause of Down’s Syndrome.

11. ^Utrir«fT <56fT Sr65TLip OTOTT6DT ? 6T\ G> SIFT 5)0) uSId) T^^ 5) 5I ^U IJ’ircijT 0Q^<5® TT
2_CTT TT65T ?
What are Operons ? How many operon groups are present in E.coli ?
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12. Qffuj 6Drra« Gpir\upp&sn-&*irui-i ujrfjgjm LDff5£ mrr«afr G^rriij^a565) i_<s«m-1 M

^^luJ6lJ{i) r5lfT)il65)l
_GuJtL|GTTCrr GcupU (T(5l«STT ^g-OTTl^eiDCTT OT(Lp§J«.

Write any two differences between active and passive Immunity.

13. “Q<$rrLj5l6i)|jjoj)fD .̂ ,6bffiGi!Drra>” 6T6&Tp @ r$ui<ili_ui-i (5lajp srp ? cyon ?
Which is referred to as Industrial alcohol ? Why ?

14. LDssfldg Q<9Pd)«6iflsiji (jpadjlujLBnw uujorurr® GT65T6OT ?
What is the most important application of human stem cells ?

i51(fl6i) - 3 / SECTION - 3

0n51ui_j : <^Lp «5 ,5 rr@|Lb ©SIsfrrrasBafld) 6j(5^guii> (jLpOTTpj QS) 65Tfr«ffi ( nj<50
QSl65)L_uj6ff) <sj(K6L|Lb. 6$6ffnr crossr 19 -<5@ «L_L_rrujLDn'<s 6i5)om_uj6Tf)«<scqLb;

Answer any three of the following questions. Question number19 is compulsory.

15. rijjliTLj/b^ QaFuueb sronroireo Gron&n ?
What is known as "Let-Down" reflex ?

3x3=9
Note :

16. U6Bfl«@L[Bgj65>6rrLJL| @I$UL| U65)[r<5.
Write a note on "Amniocentesis".

17. 65)<$LD6TD <K (TUL51 QJDrnrGkDfresfleOT QUILIIT er&nm ? a©rrirGii) FTGSAOTT
U6Wf) <S6TT 6T(Lpgj<5.

Name the hormone secreted by Thymus gland and mention two functions of that
hormone.

airEf <$S6TT Ufb(fl<5 @f$UL| OJ6®)(T«.18. LD(rugp
Write about gene banks.

19^ ^rr^rr6fil6ffT 2_l_6lS)6b 2_6TT6Tr 6£0 U0RrTL| LD(56TT 6UL^) lLlfr« Q<F«)^) fD§J .

<SU65)<95 LD5TL|<5<5l_^65p<50 eU6S)(TUl_Lb (flowchart) £0,5.

A character present in grandfather goes to grandson through daughter. Draw flowchart
for this pattern of Inheritance.

[ d£)0UL|« / Turn over
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iSlifleq - 4 / SECTION - 4
2x5=10@n5)uq : LSl6OT6U0ih oSWrrasHenja^ 6iSl 6i5) i_ujetfla;«<oijLb .

Note : Answer the following questions :
20. ( < l̂ ) UDScfl^ LOfrugal i§lL_l <3jf£l65T (HGP) <SUL£l(LpSF)fD<$©nCTT U(E)f5l 6T(L£§I <£ -

^6060§J
(^> ) LD 5fl^Siifl«5T Ulfl 655TrriD &J6rTITff <£lLJUir65)g>61DUJ 6lfil6IT«®<S.

(a) Write about the methodologies of HGP.
OR

(b) Explain the evolutionary path of Man.

21. (*
<5|) £lnjj ®(£)uiq :

(i) ^lCTT<S<Kn.lll_^OTT «^] L_IT£|£)

(ii) i51puiq 6fia> Lb iDfbpib {g) (DUL| eS^ib

^6beogj
(^j,) efilsufffrujjSgjiawDuSld) C>Qj$uGlurr®L_sa>OT uiudsTuQ^giai^rr®) «g-rbu @ii)

e£l«D6TT6iq <K6tD rr 6T(l£§|.£.

(a) Write short notes on :
(i) Population Density
(ii) Natality and Mortality

OR

(b) Write about the effects of chemicals used in the field of Agriculture.

- o O o -

 

USER
Stamp

user
Typewriter
XII - MARCH 2020

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


